
REVISIONS
REV. ECN DESCRIPTION BY DATE

A 80000xxxx INITIAL RELEASE MSM 01/26/15
B 8000012889 UPDATE PACKING CEB 3/10/2016
C 8000017155 UPDATE BOM TO AS BUILT MSM 11/04/16

            1. PLACE LOOSE HARDWARE IN POLYBAGS.
            2. CUSTOMER ASSEMBLY DRAWING SHEET 2.
            3. IN USE DRAWING SHEET 3 AND 4.

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 MTC332654 RIGHT RRU BRACKET 2 3.22 LBS
2 MTC332653 LEFT RRU BRACKET 2 3.22 LBS
3 MTC332643 TRANSITION BRACKET 2 3.59 LBS
4 MTC332641 FRONT RRU BRACE 1 1.15 LBS
5 MTC332646 PIPE CLAMP 4 2.44 LBS
6 MT-379-8 1/2" X 8" GALV THREADED ROD 4 0.44 LBS 1
7 BX3008 Box Kraft 18.5" x 13.75" x 4" 1 -
8 RRB2BARHB1 HARDWARE BAG FOR RR-B2B-AR 1 2.91 LBS
9 DOCUMENT RECORD PLACE DRAWING RR-B2B-AR IN BOX 1

C

C

RR-B2B-AR

RR-B2B-AR

C

HA
ND

BO
OK

,T
EC

HN
IC

AL
 D

RA
W

IN
GS

,

C

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

lbs/in³
lbs

in³
in²

±

36.28

1 OF 4WIDTH
LENGTH
HEIGHT

VOLUME RE
AD
RV
RW

COMMSCOPE, INC. OF NORTH CAROLINA

1/26/15

1/26/15MSM

8000012889

 
DENSITY

MASS
0.16

VO
LU

ME
S 

1 &
 2,

 T
HI

RD
 E

DI
TI

ON
 (2

00
2)

CE

WORK AREA
ECN

DRAWING SHEETMODEL

SCALE

SIZE

ANGLES
X ±
.X ±

.XX ±

MATERIAL

C

2 PLACE
1 PLACE
0 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:5

FINISH

TP
SURFACE AREA

TITLENAME DATE

SAP MATERIAL MASTER

2015 CommScope, Inc. Confidential

GALV A123 A36

REMOTE RADIO BACK-TO-BACK ACCESS READY

.25

.12
.06

UN
LE

SS
 O

TH
ER

W
IS

E 
SP

EC
IFI

ED
DI

ME
NS

IO
NS

 A
RE

 IN
 M

ILL
IM

ET
ER

S
IN

TE
RP

RE
T 

PE
R 

IS
O 

ST
AN

DA
RD

S

2



111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

2 OF 4

COMMSCOPE, INC. OF NORTH CAROLINA

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:9

TITLE

C 2015 CommScope, Inc. Confidential

RR-B2B-AR

C

REMOTE RADIO BACK-TO-BACK ACCESS READY

   1. ALL METRIC DIMENSIONS ARE IN BRACKETS.
   2. FITS 2-3/8" - 3-1/2" OD PIPE.
   3. INSTALL WHEN USING SINGLE RRU/A2 SET-UP.

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 MTC332641 FRONT RRU BRACE 1 1.15 LBS
2 MTC332643 TRANSITION BRACKET 2 3.59 LBS
3 MTC332613 SPACER FOR 3/8" BOLT 1 0.08 LBS 3
4 MTC332647 M-10 X 75mm Hex Bolt SS 4 0.12 LBS
5 MTC332648 M-10 X 55mm Hex Bolt SS 4 0.10 LBS
6 SWL-03 3/8" SS LOCK WASHER 8 0.01 LBS
7 SWF-03 3/8" SS FLAT WASHER 8 0.01 LBS
8 MT-379-8 1/2" X 8" GALV THREADED ROD 4 0.44 LBS
9 GWL-04 1/2" GALV LOCK WASHER 8 0.01 LBS

10 GN-04 1/2" GALV HEX NUT 12 0.04 LBS
11 GB-03125 3/8" X 1-1/4" GALV BOLT KIT 8 0.06 LBS
12 GB-03225 3/8" X 2-1/4" GALV BOLT KIT 1 0.09 LBS 3
13 GWF-03 3/8" GALV FLAT WASHER 10 0.01 LBS 3
14 MTC332646 PIPE CLAMP 4 2.44 LBS
15 MTC332654 RIGHT RRU BRACKET 2 3.22 LBS
16 MTC332653 LEFT RRU BRACKET 2 3.22 LBS

9.3 235

8 9 10

2

15

16

1

15

11

4 6

5 6

16

13

476

576

14

18.2 462

13.4 340.7

31213

8.4 212.7



IN-USE VIEWS

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

3 OF 4

COMMSCOPE, INC. OF NORTH CAROLINA

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:8

TITLE

C 2015 CommScope, Inc. Confidential

RR-B2B-AR

C

REMOTE RADIO BACK-TO-BACK ACCESS READY

EXISTING PIPE

RRU ORDERED
SEPARATELYA2 ORDERED

SEPARATELY



111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

4 OF 4

COMMSCOPE, INC. OF NORTH CAROLINA

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:8

TITLE

C 2015 CommScope, Inc. Confidential

RR-B2B-AR

C

REMOTE RADIO BACK-TO-BACK ACCESS READY

A

9

8

10

SCALE 1 : 3
DETAIL A 

1113

10

2

15

916

10

ON BACK SIDE

14


